

SNS COLLEGE OF TECHNOLOGY



(An Autonomous Institution) Coimbatore-641035.

UNIT-IV FOURIER SERIES AND FOURIER TRANSFORM

FOURIER SERIES-ODD AND EVEN FUNCTIONS (-L,L)

parblems on
$$(-1, 1)$$

J. Find the poweles series of $f(x) = \begin{cases} 1 + x, -1 \le x \le 0 \\ \frac{1}{2} - x, 0 \le x \le 1 \end{cases}$

Solo:

Now, $f(x) = \begin{cases} \frac{1}{2} + x \end{cases}$; $\frac{1}{2} (x) = \frac{1}{2} - x$

Now $\frac{1}{2} (x) = \frac{1}{2} - x = \frac{1}{2} (x)$
 $\Rightarrow f(x) \le even \Rightarrow bn = 0$
 $e^{-\frac{2}{2}} \int_{1}^{2} f(x) dx = \frac{2}{2} \int_{1}^{2} (2 - x) dx$
 $= \frac{2}{2} \int_{1}^{2} (2 - x)^{2} dx = \frac{1}{2} \int_{1}^{2} (2 - x) dx$
 $= \frac{2}{2} \int_{1}^{2} (2 - x)^{2} dx = \frac{1}{2} \int_{1}^{2} (2 - x)^{2} dx$
 $= \frac{2}{2} \int_{1}^{2} (2 - x)^{2} dx = \frac{1}{2} \int_{1}^{2} (2 - x)^{2} dx$
 $= \frac{2}{2} \int_{1}^{2} (2 - x)^{2} dx = \frac{1}{2} \int_{1}^{2} (2 - x)^{2} dx$
 $= \frac{2}{2} \int_{1}^{2} (2 - x)^{2} dx = \frac{1}{2} \int_{1}^{2} (2 - x)^{2} dx$
 $= \frac{2}{2} \int_{1}^{2} (2 - x)^{2} dx = \frac{1}{2} \int_{1}^{2} (2 - x)^{2} dx$
 $= \frac{2}{2} \int_{1}^{2} (2 - x)^{2} dx = \frac{1}{2} \int_{1}^{2} (2 - x)^{2} dx$
 $= \frac{2}{2} \int_{1}^{2} (2 - x)^{2} dx = \frac{1}{2} \int_{1}^{2} (2 - x)^{2} dx$
 $= \frac{2}{2} \int_{1}^{2} (2 - x)^{2} dx = \frac{1}{2} \int_{1}^{2} (2 - x)^{2} dx$
 $= \frac{2}{2} \int_{1}^{2} (2 - x)^{2} dx = \frac{1}{2} \int_{1}^{2} (2 - x)^{2} dx$
 $= \frac{2}{2} \int_{1}^{2} (2 - x)^{2} dx = \frac{1}{2} \int_{1}^{2} (2 - x)^{2} dx$
 $= \frac{2}{2} \int_{1}^{2} (2 - x)^{2} dx = \frac{1}{2} \int_{1}^{2} (2 - x)^{2} dx$
 $= \frac{2}{2} \int_{1}^{2} (2 - x)^{2} dx = \frac{1}{2} \int_{1}^{2} (2 - x)^{2} dx$
 $= \frac{2}{2} \int_{1}^{2} (2 - x)^{2} dx = \frac{1}{2} \int_{1}^{2} (2 - x)^{2} dx$
 $= \frac{2}{2} \int_{1}^{2} (2 - x)^{2} dx = \frac{1}{2} \int_{1}^{2} (2 - x)^{2} dx$
 $= \frac{2}{2} \int_{1}^{2} (2 - x)^{2} dx = \frac{1}{2} \int_{1}^{2} (2 - x)^{2} dx$
 $= \frac{2}{2} \int_{1}^{2} (2 - x)^{2} dx = \frac{1}{2} \int_{1}^{2} (2 - x)^{2} dx$
 $= \frac{2}{2} \int_{1}^{2} (2 - x)^{2} dx = \frac{1}{2} \int_{1}^{2} (2 - x)^{2} dx$
 $= \frac{2}{2} \int_{1}^{2} (2 - x)^{2} dx = \frac{1}{2} \int_{1}^{2} (2 - x)^{2} dx$
 $= \frac{2}{2} \int_{1}^{2} (2 - x)^{2} dx = \frac{1}{2} \int_{1}^{2} (2 - x)^{2} dx$
 $= \frac{2}{2} \int_{1}^{2} (2 - x)^{2} dx = \frac{1}{2} \int_{1}^{2} (2 - x)^{2} dx$
 $= \frac{2}{2} \int_{1}^{2} (2 - x)^{2} dx = \frac{1}{2} \int_{1}^{2} (2 - x)^{2} dx$
 $= \frac{2}{2} \int_{1}^{2} (2 - x)^{2} dx = \frac{1}{2} \int_{1}^{2} (2 - x)^{2} dx$
 $= \frac{2}{2} \int_{1}^{2} (2 - x)^{2} dx = \frac{1}{2} \int_{1}^{2}$



SNS COLLEGE OF TECHNOLOGY



(An Autonomous Institution)
Coimbatore-641035.

UNIT-IV FOURIER SERIES AND FOURIER TRANSFORM

FOURIER SERIES-ODD AND EVEN FUNCTIONS (-L,L)

$$\frac{1}{2} + \frac{2}{2} + \frac{2}{2} + \frac{2}{2} + \frac{4}{12} = \frac{1}{2} + \frac{4}{12} = \frac{1}{2} + \frac{4}{12} = \frac{1}{2} = \frac{1}{2} + \frac{4}{12} = \frac{1}{2} =$$